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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

—————————————

1- I was confused when reading the student’s paper because it lacked ----------—-. First she
told about a trip to a farm, and then she described her math test, and her topic was
supposed to be about a favorite building.

1) persistence 2) coherence 3) equivalence 4) inference

2- If you are here in the autumn, you will also see that the oak is losing its leaves. Most
oak trees are -----------, meaning they lose their leaves in the fall.
1) deciduous 2) symbiotic 3) immutable 4) asymmetrical

3. When I went to visit, Marsha’s greeting was -----------. A few people had told me that
she was often cold and unfriendly, but I did not find her so.

1) cordial 2) inevitable 3) ravenous 4) gloomy

4- One area that greetings illuminate is ----------- . For example, which person says “hello”
first and how someone is greeted can be part of the stratification system in a society.
1) awe 2) demise 3) deterrence 4) status

5. Welfare workers were sternly ---—------—- by the court for ignoring the woman's plea for
help.
1) transmuted 2) coerced 3) rebuked 4) enforced

6- Kate shouldn't have any problem finding a job with her ----------- of skills.
1) attachment 2) repertoire 3) initiation 4) expertise

7-ToQ ----=n===n= the boredom that had set into my life, I decided to live on a farm for a year.
1) fluctuate 2) elicit 3) distract 4) alleviate

8- We should ----—------ our nation’s teachers because they have much of the responsibility
for educating the future.
1) verbalize 2) vindicate 3) venerated 4) verify

9- Twins, being of ------=---- ages, are usually even better matched on environmental variables
during upbringing than are siblings.
1) identical 2) volatile 3) adjacent 4) consistent

10- The great strength of 123 For Windows is its -=-----=--= with all the earlier versions of the

product.

1) disparity

2) neutrality 3) compatibility 4) clarity

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then the correct choice on your answer sheet.

—

In a fundamental discovery made in 1954, James Olds and Peter Milner found that stimulation of
certain regions of the brain of the rat acted as a reward in teaching the animals to run mazes and solve

problems. The conclusion from such experiments (11) -=--===---- stimulation gives the animals pleasure.
The discovery has also been confirmed in humans. These regions are called pleasure or reward centers.
One important centre is in the septal region, (12) ----------- are reward centers in the hypothalamus and
in the temporal lobes of the cerebral hemispheres (13) ----------- _ When the septal region is stimulated in
conscious patients (14) -=--------= neurosurgery, there are feelings of pleasure, optimism, euphoria, and
happiness.

Regions of the brain also clearly cause rats distress when electrically stimulated; these are called
aversive centers. (15) ====------- , the existence of an aversive centre is less certain than that of a reward
centre.

11- 1)is 2) are the 3) is that 4) whose

12- 1) where 2) where they 3) in which 4) and there

13- 1)as well 2) either 3) also are 4) are too

14- 1) to be undergone 2) undergoing 3) undergo 4) have undergone

15- 1) Otherwise 2) However 3) Even though 4) By the same token
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer sheet.

IMS Fellow George Casella passed away on June 17, aged 61, after a nine-year battle with
multiple myeloma. George was born in Bronx, NY, where he attended the Bronx High School
of Science. He received his BA in Math from Fordham and his MS and PhD in Statistics from
Purdue University. In a distinguished career as a teacher, mentor and researcher at Rutgers,
Cornell and the University of Florida, George mentored 48 MS and PhD students, published
over 200 articles in peer reviewed journals, and co-authored nine textbooks. He served as
editor of Statistical Science,JASA, and JRSS(B). George was a Fellow of IMS, ASA, the
Spanish Royal Academy of Sciences and the American Association for the Advancement for
Science, and an elected member of 1S1.

An obituary is being prepared and will appear in a future issue

When did Casella die?

1) On June 17 2) When he was old  3) When he was sick 4) When he was young
Where did he receive his PhD from?

1) Harvard 2) Paris 3) Purdue 4) Michigan

How many articles did he publish?

1) About 9 2) About 48 3) more than 200 4) Fewer than 200
"Obituarity" means?

1) Objective 2) Forgetfulness 3) A report 4) A report of death
What was Casella's job?

1) He was a merchant. 2) He was an engineer.

3) He was a statistician. 4) He was a reseaches.

This article documents modern software issues in estimating the three-parameter Weibull
distribution using maximum likelihood estimation. It shows that considerable variability exists
in results reported by different statistical packages. These differences may be critical for those
who would use the three parameter Weibull.

As mentioned earlier, maximum likelihood is not the only procedure available when
estimating population' parameters. For difficult estimation problems, especially for non-large
sample sizes, alternative methods may be worth investigating.

What does "To document' mean?

1) To do research 2) To summarize data

3) To have a logical letter 4) To write some related facts
What are the software issues about?

1) About moment estimate 2) About the Weibull distribution
3) About ML estimate 4) About statistics

The article is about a distribution with ----------

1) three parameters  2) many parameters  3) two parameters 4) no parameters
Which one is correct?

1) Weibull’s estimate 2) The Weibull’s estimate

3) Estimate of Weibull 4) Estimate of Weibull’s
"Procedure’ means --------- .

1) plan 2) proof 3) the correct way 4) improvement
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A growing number of people need to be able to analyze data and reason quantitatively—in short,
to understand statistics. A significant fraction of those people, however, are held back from

doing so by a barrier of mathematics. A number of textbooks have made worthy efforts to
reach this audience by attempting to explain statistical ideas with a minimal use of equations.
Of particular note is the groundbreaking Statistics (Freedman, Pisani, and purves 1978), which
states: "Mathematical notation only seems to confuse things for many people, so this book
relies on words, charts, and tables; there are hardly any x’s or y’s.

what does "To analyze data" mean?

1) To understand a theory 2) To reason mathematically

3) To understand statistics 4) To solve a problem

A groundbreaking book is a book with --------- .

1) hard theorems 2) tough formulas

3) new methods and ideas 4) pictures about the earth

Who wrote a simple book in statistics in 19787

1) Three persons 2) A student 3) A teacher 4) A mathematician
Advanced formulas --------- g

1) are needed for ideas 2) simplify the ideas

3) confuse the ideas 4) help a lot

"To rely' means -----------.

1) to relate 2) to repont 3) to depend 4) to reason
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Jlguw Quo Jlguw Quo Jlguw Quo Jlguw uo Jlguw Quo Jlguw Quo
1 2 31 2 61 3 91 1 121 3 151 4
2 1 32 3 62 4 92 4 122 1 152 2
3 1 33 3 63 4 93 2 123 1 153 3
4 4 34 4 64 1 94 2 124 1 154 2
5 3 35 2 65 1 95 4 125 4 155 1
6 2 36 1 66 3 96 3 126 4 156 4
7 4 37 1 67 3 97 3 127 4 157 1
8 3 38 4 68 2 98 2 128 4 158 4
9 1 39 1 69 2 99 1 129 4 159 2
10 3 40 3 70 1 100 4 130 4 160 3
11 3 41 2 71 2 101 4 131 2
12 4 42 4 72 2 102 1 132 3
13 1 43 3 73 1 103 1 133 1
14 2 44 4 74 3 104 2 134 3
15 2 45 2 75 4 105 2 135 1
16 1 46 1 76 1 106 4 136 3
17 4 47 3 77 3 107 2 137 4
18 3 48 1 78 3 108 3 138 2
19 4 49 2 79 2 109 4 139 3
20 3 50 4 80 3 110 4 140 1
21 4 51 2 81 4 111 4 141 1
22 2 52 1 82 4 112 1 142 1
23 1 53 3 83 3 113 2 143 4
24 2 54 2 84 1 114 3 144 2
25 1 55 1 85 1 115 1 145 3
26 2 56 3 86 4 116 2 146 4
27 3 57 4 87 2 117 1 147 3
28 1 58 3 88 1 118 2 148 3
29 3 59 4 89 4 119 3 149 1
30 3 60 2 90 2 120 3 150 2
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